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(J\�NHU£PLD�O£WY£Q\PĮKHO\�HOKHO\H]«VH�D�QDJ\Y£UDGL�
Y£U�WHU¾OHW«Q�N¾O¸QOHJHV�OHKHWĎV«JHW�WHUHPWHQH�D�Y£URV�
W¸UW«QHOPL�«V�NXOWXU£OLV�«UW«NHLQHN�PHJHUĎV¯W«V«UH��
$��������V]£]DGL�1DJ\Y£UDG�ID]HNDV�N¸]SRQW�LV�YROW��$��������V]£]DGL�1DJ\Y£UDG�ID]HNDV�N¸]SRQW�LV�YROW��
QDSMDLQNEDQ�D]RQEDQ�D�U«JLµ�JD]GDJ�N«]PĮYHV�
KDJ\RP£Q\DL��N¾O¸Q¸VHQ�(UG«O\�«V�D�3DUWLXP�
NHU£PLDNXOW¼U£MD��KDQ\DWOµEDQ�YDQQDN�
&«ORP��KRJ\�GLSORPDPXQN£PPDO�HJ\�HUĎV�DODSRW�
EL]WRV¯WVDN�HJ\�KHO\L�NXOW¼U£W�IHOOHQG¯WĎ�
NH]GHP«Q\H]«VQHN�
$]�£OWDODP�WHUYH]HWW�PĮKHO\�HJ\V]HUUH�OHQQH�WXULV]WLNDL�$]�£OWDODP�WHUYH]HWW�PĮKHO\�HJ\V]HUUH�OHQQH�WXULV]WLNDL�
O£WY£Q\RVV£J��N¸]¸VV«JL�W«U�«V�RNWDW£VL�KHO\V]¯Q��DKRO�D�
O£WRJDWµN�QHPFVDN�PHJFVRG£OKDWQ£N�D�PHVWHUV«JHW��
KDQHP�DNW¯YDQ�U«V]W�LV�YHKHWQ«QHN�EHQQH��N¾O¸QI«OH�
ZRUNVKRSRN�«V�LQWHUDNW¯Y�SURJUDPRN�£OWDO��
$PHOOHWW��KRJ\�WXULV]WLNDL�«V�JD]GDV£JL�«UW«NHW�$PHOOHWW��KRJ\�WXULV]WLNDL�«V�JD]GDV£JL�«UW«NHW�
WHUHPWHQH��PHJĎUL]Q«�«V�WRY£EEDGQ£�D�NXOW¼U£W�D]�¼M�
JHQHU£FLµQDN�
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$]�¾]OHW�WHU«EHQ�«S¾OHW�$]�¾]OHW�WHU«EHQ�«S¾OHW�
DQ\DJKDV]Q£ODW£QDN�«V�V]HUNH]HWL�
PHJROG£VDLQDN�HV]W«WLN£M£W�N¯Y£QWDP�
KDQJV¼O\R]QL��(QQHN�«UGHN«EHQ�HJ\HGL��
I£EµO�N«V]¾OW�E¼WRURNDW�WHUYH]WHP��
DPHO\HN�IXQNFLRQDOLW£VXN�PHOOHWW�D�ID�
WHUP«V]HWHV�V]«SV«J«W�LV�NLHPHOLN��$]�
HJ\HV�GDUDERN�EHOVĎ�V]HUNH]HW«EH�UHMWHWW�
IDRV]ORSRN�LQWHJU£O£V£YDO�D�VWDELOLW£V�«V�D�
YL]X£OLV�NRK«]Lµ�LV�EL]WRV¯WRWW�
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$�V]«NHN�WHUYH]«VHNRU�F«ORP�HJ\�RO\DQ�
PXOWLIXQNFLRQ£OLV�E¼WRUGDUDE�O«WUHKR]£VD�
$�V]«NHN�WHUYH]«VHNRU�F«ORP�HJ\�RO\DQ�
PXOWLIXQNFLRQ£OLV�E¼WRUGDUDE�O«WUHKR]£VD�
YROW��DPHO\�J\HUHNHN�«V�IHOQĎWWHN�V]£P£UD�
HJ\DU£QW�KDV]Q£OKDWµ��)¾JJĎOHJHV�
KHO\]HWEHQ�N«Q\HOPHV�
¾OĎDONDOPDWRVV£JN«QW�V]ROJ£OQDN��P¯J�
Y¯]V]LQWHV�SR]¯FLµEDQ�NLV�DV]WDOO£�«V�KR]]£�
WDUWR]µ�V]«NN«�DODN¯WKDWµN��¯J\�
DONDOPD]NRGYD�D�IHOKDV]Q£OµNKR]
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$�NHP«Q\ID�HUGĎN�D�&2��NLERFV£W£V�HOOHQL�N¾]GHOHP�HJ\LN�OHJKDW«NRQ\DEE�
HV]N¸]HL��(J\�N¸EP«WHU�ID�N¸U¾OEHO¾O�����WRQQD�V]«Q�GLR[LGRW�N«SHV�PHJN¸WQL��$�
I£N�Q¸YHNHG«V¾N�VRU£Q�PHJN¸WLN�D�O«JN¸UEHQ�WDO£OKDWµ�V]«Q�GLR[LGRW��D�IDDQ\DJ�
SHGLJ�V]£UD]�W¸PHJ«QHN�����£EDQ�V]HQHW�WDUWDOPD]�
$�I£EµO�N«V]¾OW�«S¾OHWHN�D�WHOMHV�«OHWWDUWDPXN�DODWW�PHJN¸WLN�D�V]HQHW��«V�P«J�$�I£EµO�N«V]¾OW�«S¾OHWHN�D�WHOMHV�«OHWWDUWDPXN�DODWW�PHJN¸WLN�D�V]HQHW��«V�P«J�
KRVV]DEE�LGHLJ��KD�D�IDDQ\DJRW�¼MUDKDV]QRV¯WM£N�YDJ\�¼M�IXQNFLµW�NDS�
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$�W¸PHJHVHQ�J\£UWRWW�IDDQ\DJ�HJ\LN�OHJYRQ]µEE�WXODMGRQV£JD��KRJ\�J\RUVDEE�«V�
HJ\V]HUĮEE�«S¯WNH]«VW�WHV]�OHKHWĎY«��$]�HOĎUH�J\£UWRWW�HOHPHN�«V�D]�«S¯WNH]«V�
J\RUVDEE�WHPSµMD�MHOHQWĎV�N¸OWV«JPHJWDNDU¯W£VW�HUHGP«Q\H]�D�KDJ\RP£Q\RV�
«S¯WĎDQ\DJRNKR]�N«SHVW��(UG«O\��PLQW�HUGĎEHQ�JD]GDJ�RUV]£JN«QW��W£PRJDWMD�D�KHO\L�
JD]GDV£JRW�
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$�PLQG�HOOHQ£OOµ��PLQG�J\¸Q\¸UĮ�ID«S¯W«V]HW�RO\DQ�ELRSKLOLNXV�WXODMGRQV£JRNNDO�$�PLQG�HOOHQ£OOµ��PLQG�J\¸Q\¸UĮ�ID«S¯W«V]HW�RO\DQ�ELRSKLOLNXV�WXODMGRQV£JRNNDO�
UHQGHONH]LN��DPHO\HN�IRNR]KDWM£N�D]�HPEHUL�PRU£OW��D�WHUPHO«NHQ\V«JHW�«V�D�MµOO«W�
«U]«V«W��7DQXOP£Q\RN�NLPXWDWW£N��KRJ\�FV¸NNHQWKHWL�D�VWUHVV]W�«V�MDY¯WKDWMD�D�
NRQFHQWU£FLµW��(J«V]V«J¾J\L�O«WHV¯WP«Q\HNEHQ�D�WHUP«V]HWHV�DQ\DJRN�MHOHQO«WH�
J\RUVDEE�IHO«S¾O«VL�LGĎNNHO��DODFVRQ\DEE�I£MGDORP«U]«NHO«VVHO�«V�SR]LW¯Y�
KR]]££OO£VVDO�M£U�HJ\¾WW�
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